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An oil drop of radius 2 mm with a density 3 g cm ™ ? is held stationary under a constant
electric field 3.55 x 10° V m ! in the Millikan’s oil drop experiment. What is the number of
excess electrons that the oil drop will possess ?

Consider g=9.81 m/s®

Options :

86435116201, 173 ¥ 107

i 10
86435116202, 173 %10

s 12
86435116203, 170 <10

11
86435116204, 28-8x10

Question Number : 1 Question Id : 8643515401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 mm Biscdl 244 3 gem 3 Al addl 8edl dadl 215 ojgd 3.55 x 105 V m ! AL 2010 [Eyasadl
weedll FilasiAl de off (Millikan’s oil drop) WAPRE B2z 2uedl 208 8. dadl ¢jg G4 dauri-lL
S2dl daslr ¢l
g =981 m/ s dl.

Options :

~ 10
86435116201, 173> 10

i 10
86435116202, 173 %10

= 12
86435116203, 172 <10

11
86435116204, 28-8x10

Question Number : 2 Question Id : 8643515402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A constant power delivering machine has towed a box, which was initially at rest, along a
horizontal straight line. The distance moved by the box in time ‘t’ is proportional to :

Options :

2/90
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86435116205, /2

¢1/2
86435116206.

(2/3
86435116207.

86435116208. :

Question Number : 2 Question Id : 8643515402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wig w0 YHz (sHoaal) @il 9 den e 4l 2is Wl wulalder Il Touml viuaml wud © 5 o
Mol B2 RAD ¢dl. ‘¢l Wl siid 2idr AL HHUHLRHL .

Options :

86435116205, /2

(/2
86435116206.

¢2/3
86435116207.

L
86435116208.

Question Number : 3 Question Id : 8643515403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical long solenoids A, B, C and D are connected to each other as shown in the
figure. If the magnetic field at the center of A is 3 T, the field at the center of C would be :
(Assume that the magnetic field is confined with in the volume of respective solenoid).

Options :
3/90
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86435116209, 1 T

86435116210. 3]

86435116211. B

2
86435116212. e

Question Number : 3 Question Id : 8643515403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
215l gatlel el s M S A, B, C 214 D A igolsd B sdselBl 202 . ol A Al 5wy,
2P Aol #2 3 T € dl C Al g 240101 &8 gal. (@1d arl 3 deidly s o-a
UlAASEAL 58 Yad o Blld ©.)

Options :

86435116209, 1 |

86435116210. T8

86435116211, 0 T

2
86435116212. e

Question Number : 4 Question Id : 8643515404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The P-V diagram of a diatomic ideal gas system going under cyclic process as shown in

figure. The work done during an adiabatic process CD is (use y=1.4) :

A D
200N/m2f-------- <
RN
|
MON/me}|----———- > N,
B! (.
| | |
| | |
P | .
| | |
| | |
| I
| | |
| | |
| | |
| | |
| I
| | 1
1 3 4
—» Vv Emi«!}
Options :
86435116213. il
86435116214. 00 J

86435116215, 200]

0]
86435116216.

Question Number : 4 Question Id : 8643515404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
86435116213. -
86435116214. 500 ]

86435116215, 200]

86435116216.

Question Number : 5 Question Id : 8643515405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position, velocity and acceleration of a particle moving with a constant acceleration can

be represented b"i, .

Options :
86435116217.
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Question Number : 5 Question Id : 8643515405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

velocity
N\

velocity

velocity

velocity

Correct Marks : 4 Wrong Marks : 1

wiu w2l old s2dl 591 e 2=, oL @A M

Options :
86435116217.
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Question Number : 6 Question Id : 8643515406 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

-~
>
r'g "'/
—> t
20
e =
—> t

Correct Marks : 4 Wrong Marks : 1

An AC source rated 220 V, 50 Hz is connected to a resistor. The time taken by the current to

cha_ng::- from its maximum to the rms value is :

Options :

gl
86435116221, = ™S

a ()

—>t
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86435116222, = ™S

86435116223, 0-20 mS

86435116224, 22 S

Question Number : 6 Question Id : 8643515406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
220 V, 50 Hz « 2¢PL unsdi AC Gl 245206 HBL sASAil 2U8d 8. Ml drll Hgrd yexell

rms Yoo el GiEasel W2 dpldl M3 8.
Options :

86435116221, = ™S

86435116222, = ™S

86435116223, 0-20 mS

86435116224, 22 S

Question Number : 7 Question Id : 8643515407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Young's double slit arrangement, slits are separated by a gap of 0.5 mm, and the screen is

placed at a distance of 0.5 m from them. The distance between the first and the third bright
fringe formed when the slits are illuminated by a monochromatic light of 5890 Ais:

Options :

7 12
86435116225, 1178107 “m

86435116226, 2890 <10~ " m

- 9
86435116227, 1178107 " m

1178 10~ ® m
86435116228.

9/90
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Question Number : 7 Question Id : 8643515407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
il Ol-GazAl o, R4z 0.5 mm wicel 921 Wddl § 2 d-ell UsEl 0.5 m §3 WHA 8. sl
[2e424 5890 A AL #a595(l us12i2ll ustlld szeuml 2udl ol uad 2 i usilEld aeusil 922 o »ids
23l.
Options :

i 12
86435116225, 1178107 “m

86435116226, 2890 <107 m

- 9
86435116227, 1178107 " m

1178 10~ ® m
86435116228.

Question Number : 8 Question Id : 8643515408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is travelling 4 times as fast as an electron. Assuming the ratio of de-Broglie
wavelength of a particle to that of electron is 2 : 1, the mass of the particle is :
Options :

86435116220, O times the mass of e

— ltimes the mass of e
86435116230. 16

86435116231, 16 imes the mass of e

3 Hmes the mass of e
86435116232.

Question Number : 8 Question Id : 8643515408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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wis 501 daszid szl 4 28l 2wl alld 53 5. 581 2 dasglndl <l-vledl d@ndeud-l oelnr 2: 1
ARAML 2ud dl st g0 23l

Options :
e L EUL 2l 8 18]

86435116229.
N
e -l BN 5l E:‘Uﬂ
86435116230.
116 210
86435116231, © LEASALIO A

i
e” AT Kl g 219
86435116232.

Question Number : 9 Question Id : 8643515409 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1

The time period of a simple pendulum is given by T = 27 |—. The measured value of the

&
length of pendulum is 10 cm known to a 1 mm accuracy. The time for 200 oscillations of the

pendulum is found to be 100 second using a clock of 1 s resolution. The percentage accuracy
in the determination of “g’ using this pendulum is “x". The value of “x” to the nearest integer

18,
Options :
2%
86435116233.
3 %
86435116234.
4%
86435116235.
B
86435116236. i

Question Number : 9 Question Id : 8643515409 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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el 2Ud 5. 1 Hsmse [Aele griad] adluo ol dids-i 200 gl M2 dpidl ¥4 100 As-S szl
Wy uh o, 2 didsl wesel g ol vellul dlded dlsd v 5. x o Yed Asosty yelsul

sl
Options :

2%
86435116233.

3 %
86435116234.

o7

86435116235.

o7

86435116236. 2

Question Number : 10 Question Id : 8643515410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Imagine that the electron in a hydrogen atom is replaced by a muon (). The mass of muon
particle is 207 times that of an electron and charge is equal to the charge of an electron. The
ionization potential of this hydrogen atom will be :

Options :

86435116237, 10 eV

86435116238, 27-2 eV

86435116239, 2o1.2eV

86435116240, 5192 eV

Question Number : 10 Question Id : 8643515410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

12/90
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2, QLS SEglerA YRl Sasginn HEA 3l (u) B. WYlidd £0 SdsglAl §0L 53l 207 28| 2

[Geidouz dasziq [gdeu szdl o ©. 21 @Eglere WAHRHL 2R3 Rl el
Options :
86435116237, o0 ¢V

86435116238, 27-2 eV

86435116239, o012 eV

86435116240, 5192 eV

Question Number : 11 Question Id : 8643515411 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A radioactive sa_mple disﬁitegrates via two it‘l::lepemflent dc-ca}-' processes 11aw'_t1g half lives

Tlil} T(z} , _ o y
12 and l'ﬁ respectively. The effective half-life, Tlé of the nuclei is
Options :
(1) 7 (2)
TI,-’ Tl,-’
Ty, = — il R
1/ 1/
86435116241. /2 /2
Ty = T“_]I IT'{E_]I
/2 L; L
86435116242. /2 L2
(1) (2)
Tl-*'i | TI:_E
Tl )
1/ 1/
86435116243, /2 /2

26435116244, TNone of the above

Question Number : 11 Question Id : 8643515411 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

13/90
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Options :

86435116241, i T

/2 : 1

86435116242. 2 /2
OB v

T — ".-2 »';E

1/ 1/

86435116243. 2 /2
Gluziadl =iswer dl

86435116244
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-
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Question Number : 12 Question Id : 8643515412 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A loop of flexible wire of irregular shape carrying current is placed in an external magnetic

field. Identify the effect of the field on the wire.

Options :

86435116245.

86435116246.

86435116247.

86435116248.

shape of the loop remains unchanged

loop assumes circular shape with its plane normal to the field

loop assumes circular shape with its plane parallel to the field

wire gets stretched to become straight

Question Number : 12 Question Id : 8643515412 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

14/90
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uells e 2 2 25 gsdl o @lal (flexdble) dizdl 245 200U SUEL sl sl
Yol 24 6. aetel dir Guaedl 2z glal
Options :

06435116245, UoU-AL 2SR gL 4.

86435116246. ] AHAA FHA AN 3¢ o 2l sl YOS 2SR HIRGL S

def, UM A Ui 2 o Zld 2l dduusi U5 aReL $2al.
86435116247.

o Y I -
86435116248, W VERUEA AL ol o3l

Question Number : 13 Question Id : 8643515413 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the experiment of Ohm’s law, a potential difference of 5.0 V is applied across the end of a
conductor of length 10.0 cm and diameter of 5.00 mm. The measured current in the conductor
is 2.00 A. The maximum permissible percentage error in the resistivity of the conductor is :

Options :

86435116249, -9

86435116250. 7.3

86435116251. 8.4

86435116252. 3.0

Question Number : 13 Question Id : 8643515413 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al [HaAL W4, 10.0 em -l detd 244 5.00 mm AL 4 gl dgsHl B8 922 5.0 VAl
ERPUAAL dsled @USHHL 2089 8. YaesHl HUEA Hols 200 A 8. Yalles-l 2REsAML 1
Heriy Wl 3yl 213,

Options :

86435116249, -9

15/90
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86435116250, /2

86435116251. 5.4

86435116252. 3.0

Question Number : 14 Question Id : 8643515414 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a satellite in a circular orbit of radius R is T. The period of another satellite
in a circular orbit of radius 9R is :

Options :

86435116253. S

86435116254.

86435116255, 2/ T

12T
86435116256.

Question Number : 14 Question Id : 8643515414 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R Blsaiel aqousiz saumi wd Guacd suadsin T 8. 9R Blecdt ariadl aduusi saiil wdd vllea
GuugHl 2uadsia ol

Options :

86435116253. L

9T
86435116254.

86435116255.

86435116256.

16/90
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Question Number : 15 Question Id : 8643515415 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a series LCR resonance circuit, if we change the resistance only, from a lower to higher
value :

Options :

86435116257, The resonance frequency will increase

86435116258. The bandwidth of resonance circuit will increase

86435116259 The quality factor will increase

The qualitv factor and the resonance frequ ency will remain constant
86435116260. g g

Question Number : 15 Question Id : 8643515415 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
25 LCR 20l 2iAiEld wbuzni, sd 2uvell ssd 2ieRlad, el el el 4 dzs esdlzl, dl
Options :

86435116257, el 2l ekl

2 1l -\'_f o iy
s6a3s116nsg, AR MRl cselly el

I 1t =
86435116250, dolrll 245 <4l

RIeTL @is i il 2uglt 20 Wl
86435116260, =

Question Number : 16 Question Id : 8643515416 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

17/90
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Your friend is having eye sight problem. She is not able to see clearly a distant uniform
window mesh and it appears to her as non-uniform and distorted. The doctor diagnosed the
problem as :

Options :
Mvopia and hyvpermetropia
86435116261,  ~F YP P

86435116262, 1 Tesbyopia with Astigmatism

86435116263, *1stigmatism

86435116264, Myopia with Astigmatism

Question Number : 16 Question Id : 8643515416 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL (Mot 2[5 (steidl) dsels ©. de g5 52 2l quiotsoll 2ure dd 2uudl A2l el dd d 2uio
o g 24dl T 9. $iser dd [ant 59 il

Options :
86435116261, 42 2t sledele

86435116262, ell-dl3t el opusel 21 (a3 (21ure) efzcy

86435116263, O (ewre) lecy

elld-elly el opusd
86435116264,

Question Number : 17 Question Id : 8643515417 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the average value of energy along one degree of freedom for an ideal gas in

thermal equilibrium at a temperature T ? (kg is Boltzmann constant)

Options :

kT
86435116265.

18/90
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b | =

86435116266.

kpT

k3| L2

86435116267.

2
86435116268.

Question Number : 17 Question Id : 8643515417 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T i Gl Hdadul 28a 2uselay HE »is Yol 20 e 222100 Glsdd yeu s2q @l?
(kg 2 Gllezotue 2R100s5 5)

Options :

kT
86435116265

86435116266.

86435116267.

P
86435116268.

Question Number : 18 Question Id : 8643515418 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 1L

List - 1 List - 11
(a) 10 km height over earth’s surface (i)  Thermosphere
(b) 70 km height over earth’s surface (if) Mesosphere
(c) 180 km height over earth’s surface (iiiy Stratosphere
(d) 270 km height over earth’s surface (iv) Troposphere

19/90
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Options :

86435116269, () (b){iii), (c)-(i), (d)-(3)

86435116270, @) (b)), (1), (d)-Gv)
86435116271, @), (B)-(0), ()-(iv), (d)-(iii)

86435116272. (a)-(1), (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 18 Question Id : 8643515418 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Wl -1 A - I e wadl

Wl -1
(a) yeelldl ¥wldl Gur 10 km Glud
(b)  yeelldl 2wl Gw 70 km Glud
(c) yeslldl #wél Guz 180 km Glaud

(d) yeelldl ¥wdl Gwr 270 km Glud
Options :

86435116269, () (b){iii), (c)-(i), (d)-(3)

86435116270, @) (b)), (1), (d)-(v)
86435116271, @ (), (B)-(0), (Q)-(iv), (d)-(iii)

26435116272, @), (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 19 Question Id : 8643515419 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Wl - 11

yildun (T hermosphere)
HellRgue (Mesosphere)
+eel gz (Stratosphere)

2i4Uf342 (Triposphere)

20/90
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A plane electromagnetic wave of frequency 100 MI—IZ is travelling_ in vacuum a_long the
—3 M M
x-direction. At a particular point in space and time, B = 2.0 x 10°% k T. (where, k is unit

vector along z-direction) Whatis E at this point ?

(speed of light c=3x10% m/s)
Options :

06 j V/m
86435116273.

86435116274, 0 1 V/m

60 k V/m
86435116275,

86435116276, 00 K V/m

Question Number : 19 Question Id : 8643515419 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
100 MHz 2uglt 4319l 215 didd [Bgaziesld d2o gissiiml - Esoild 52 6. 21 2lsy 34l
5 T -’x 5 st o o o
el 25AL CE2L B = 20 107% b T ell2au 8. (sl b 2 z-[Eausl sy ulsa) di 2 Giga
E s2q &)
(usteidl 2su c=3 x10% m/s)
Options :

06 j V/m
86435116273,

86435116274, 00 1 V/m

60 k V/m
86435116275,

86435116276, 00 K V/m

21/90
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Question Number : 20 Question Id : 8643515420 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A thin circular ring of mass M and radius r is rotating about its axis with an angula_r spec-d .

Two particles having mass m each are now attached at diametrically opposite points. The

angular speed of the ring will become :

Options :

86435116277.

86435116278.

86435116279.

86435116280.

Question Number : 20 Question Id : 8643515420 Question Type : MCQ Option Shuffling : Yes Is

M
:| i, S-S
M+ m

(o

M
M+ Zm

M — 2m
(

b + 2m
%l

()

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ety o
M 4+ 2m

M £ el @i 1 Blsedt sl 215 widoll 0 dididl i wiqaalld o sredl stelld ssuel ael s

5. m £ Usdl o 50l (8384 cqid [Clgeil 20 stsaidml 2ud 8. bl stelly 2oy

23l
Options :

86435116277.

86435116278.

86435116279.

86435116280.

\%1
i
M+ m

]

\Y |
i

M — 2m
{

M+ 2m
I\

()

.L:l SRS IR T i S §
M+ Z2m

ol
M 4+ 2m
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Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Physics Section B

864351362
2

Online
Mandatory
10

5

20

Yes

1
864351362
Yes

Question Number : 21 Question Id : 8643515421 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An npn transistor operates as a common emitter amplf_ﬁer with a power gain of 10 The

input circuit resistance is 100 {} and the output load resistance is 10 k{}. The common emitter

current gain ‘f" will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

. (Round off to the Nearest Integer)

Question Number : 21 Question Id : 8643515421 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

25 npn gllosrer sA-2iler 2Fasir alls 106 svedl szt aloy ol spia 8. dye wrvaddl

Y 100 Q 2 2U6leyedl M 2Rl 10 kQ 6. e 23z wie deus aled pr

el (st yeollsul il

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 22 Question Id : 8643515422 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 10 kg moving with a velocity .lnﬁ m/'s along the x-axis, hits another ball of

mass 20 kg which is at rest. After the collision, first ball comes to rest while the second ball
disintegrates into two equal pieces. One piece starts moving along y-axis with a speed of
10 m/s. The second piece starts moving at an angle of 30” with respect to the x-axis.

The velocity of the ball moving at 30” with x-axis is x m/s.
The configuration of pieces after collision is shown in the figure below.

The value of x to the nearest integer is

Y-ax1s v piece 1

v11=10m/s
\KF X - axis
L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643515422 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643515423 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The antage across the 10 €} resistor in the given circuit is x volt.

50
— VW MV——r
00 20 0

y
170V ¢

| ! .
The value of ‘2" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 23 Question Id : 8643515423 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643515424 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A
A

B

10 m

‘Pu::ﬂr‘ntC”f'fm1IL
g ut E’. aﬂe

hd

As shown in the figure, a particle of mass 10 kg is placed at a point A. When the particle is
slightly displaced to its right, it starts moving and reaches the point B. The speed of the

particle at B is x m/s.
(Take g=10 m/s?)
The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643515424 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A
Y C
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643515425 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle performs simple harmonic motion with a period of 2 second. The time taken by
the particle to cover a displacement equal to half of its amplitude from the mean position is
1

— 8.
d

The value of ‘a" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
27/90



3/18/2021

Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643515425 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643515426 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C=3 uF 5 M
| | AANNN————
| I

q=30 uC

-\

The circuit shown in the figure consists of a charged capacitor of capacity 3 pF and a charge
of 30 pC. At time t=0, when the key is closed, the value of current flowing through the
5 M(} resistor is ‘x" pA.

The value of “x’" to the nearest integer is __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643515426 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

28/90



3/18/2021

C=3 uF 5 MQ

| F—WWW—

\

pigldl suidd wRua 3 pF darsdl 24 30 pC sedl [Bgder auadl dlvendld dars aud 8.
t=0 HH, 4R 50 G S8, 4R 5 MO ezl iz gdl ddle 7 pA 8. 1 4 Y&, Amsty
yels we, =l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643515427 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A person is swimming with a speed of 10 m/s at an angle of 120° with the flow and reaches
to a point directly opposite on the other side of the river. The speed of the flow is “x" m/s.

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643515427 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2ig s, ddeld HUUH 120° AL 5181 10 m/s Al 22642ll d3 & 2 gl ollsd 51 (893) crer [S5Ea
véel (g 2w el 8. adeirdl 45U Y m/s B, ‘¥ o Yeu, A%sty yells we, 231,
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643515428 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two separate wires A and B are stretched by 2 mm and 4 mm respectively, when they are
subjected to a force of 2 N. Assume that both the wires are made up of same material and

the radius of wire B is 4 times that of the radius of wire A. The Iengf_h of the wires A and B

a
are in the ratioof a : b. Then E can be expressed as — wherex is __
%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643515428 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643515429 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A parallel plate capacitor has plate area 100 m? and plate separation of 10 m. The space
between the plates is filled up to a thickness 5 m with a material of dielectric constant of 10.

The resultant capacitance of the system is ‘x" pF.
The value of £,=8.85x10 2 Fm-1
The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643515429 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
w5 Muidx vele SUles Wi @l #3159 100 m? 2 duedl s2@ded 2id2 10 m ©. el 92l o241 5 m
Yell 10 el sdasls (adgdis) 2tanis @l dsl el srai 204 8. dadl wewsl Hazsal
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643515430 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A bullet of mass 0.1 kg is fired on a wooden block to pierce through it, but it stops after
moving a distance of 50 cm into it. If the velocity of bullet before hitting the wood is
10 m/ s and it slows down with uniform deceleration, then the magnitude of effective retarding,
force on the bullet is “x" N.

The value of “x” to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 30 Question Id : 8643515430 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
0.1 kg £ 4l dUolA cssinl 2mal Gluz s (slseiml) 2ud § 5 o2l d sl gl sad, el d
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 864351363
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351363
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643515431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a binary compound, atoms of element A form a hcp structure and those of element M
occupy 2/3 of the tetrahedral voids of the hep structure. The formula of the binary compound
is :

Options :

86435116201, M2As
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M,A
86435116292, 473

86435116293, MA3

86435116294, MyA

Question Number : 31 Question Id : 8643515431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
05 (g2l Hdlsr L, et A Al URHISRIL hep GEIREL Gelsd 8 21 dedl M 2l hep aReIAl Hxadrsasy
(o1l 2/3 oroul 215 8. dl [g2ioll sllor-t-f YA 2L

Options :

M,A

86435116291, 22

M,A,
86435116292, 4

86435116293, MA3

86435116294, MyA

Question Number : 32 Question Id : 8643515432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A certain orbital has no angular nodes and two radial nodes. The orbital is :

Options :

[t
]

86435116295.
2p
86435116296.

86435116297.

3p
86435116298.

Question Number : 32 Question Id : 8643515432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

s (A s8s sl ALy auadl 42l duse o o Blseusly Ay 419 8. o s8is 2l
Options :

[
W

86435116295.
2p
86435116296.

86435116297.

3p
86435116298.

Question Number : 33 Question Id : 8643515433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(Process) (Catalyst)
(a) Deacon’s process (i) Z5M-5
(b) Contact process (i) CuCl,
(c) Cracking of hydrocarbons (iii) TParticles ‘N
(d) Hydrogenation of vegetable oils  (iv) V,0x

Choose the most appropriate answer from the options given below :
Options :

86435116300, @) (b)-(ii), (¢)-(3), (d)-(iii)
26435116301, @ (1), (b)-(i), (c)-(iv), (d)-(ii)

s6435116302. @), (B)-(v), ()-(1), (d)-(iii)

Question Number : 33 Question Id : 8643515433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Al - 1 2wt Rl - 10 A sdsL

el -1 well - 11
(usw) (G4lus)
(a) 354 MU i) ZSM-5
(b) 45 usH (i) CuCl,

(€) eWslstod ded (Cracking) (iii) 5Gll’NY’
(d) aruld deld edglwnaud () V,0
A2 e Bsednizl ay easudl sreel WwiE s3L
Options :

86435116299. (@)-(i), (b)-(iii), (c)-(ii), (d)-(iv)

86435116300 @), (b)-(iD), (c)-(i), (d)-(iii)
26435116301, @)-(HL), (B)-(1), (c)-(iv), (d)-(ii)

s6435116302. () (B)-(v), ()-(0), (d)-(iii)

Question Number : 34 Question Id : 8643515434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The ionic radius of Na* ion is 1.02 A. The ionic radii (in ;5;] of Mg‘? Fand AP Y, respectively,
are :
Options :
86435116303, 0-85 and 0.99

86435116304, 072 and 0.54

86435116305, 0-68 and 0.72

86435116306, 107 and 0.99

Question Number : 34 Question Id : 8643515434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Na ¥ «dl 21145 Gocd 1.02 A 6. Mg?* 21 AP * ol 200y Bloctt=i (A Hi) 2153 2l
Options :

86435116303, U-82 #1 0.99

86435116304, U-72 #10.54

86435116305, 0-08 #11 0.72

86435116306. EED i 9

Question Number : 35 Question Id : 8643515435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The chemical that is added to reduce the melting point of the reaction mixture during the
extraction of aluminium is :

Options :
86435116307, Dauxite

86435116308, aclite

86435116309, —Alamine

86435116310, —FYOlite

Question Number : 35 Question Id : 8643515435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eyl Aol s wlba [Bee aadllg gewa w2 s s GHrasl 2ud 8 7
Options :
86435116307, L5HUBe

Saidfe (Kaolite)
86435116308.

86435116300, > et
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P g
.
86435116310. Sk

Question Number : 36 Question Id : 8643515436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two Statements : One is labelled as Assertion A and the other is labelled as

Reason R :

Assertion A :  During the boiling of water having temporary hardness, Mg(HCO,), is
converted to MgCO;.

Reason R : The solubility product of Mg(OH), is greater than that of MgCO,.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
86435116311, Both A and R are true and R is the correct explanation of A

86435116312, PBoth A and R are true but R is NOT the correct explanation of A
86435116313, A is true but R is false

86435116314, A 1s false but R is true

Question Number : 36 Question Id : 8643515436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A2l o [Feudl el 9. 25 A sud A il i oflsad 5280 R 98 ded 524 6.

sud A sEAG sl g well Bsdl d g Mg(HCO,), « 3uidk MgCO; ¥l 2 8.
SRELR : Mg(OH), il gl=ddl 2jeusik MgCO, 52l 48R ¢l 8.

Guzdl [eudiql dgelnl, 2 2aian Esediiall el af ousiudl seellet yHe 53l
Options :
26435116311, It A2 R AR S 21 R 2 A -l wiell 2wugedl o

e g o n
cea3s1163]y. LA PR MR ® W@ R 2 A Al wiell wsiael -l
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86435116313, A WY O HELR MG ©.

i ca 3 - A
86435116314, A VG © HELR 3 &,

Question Number : 37 Question Id : 8643515437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Ca(OCl), (i) Antacid
5 )
(b) CaSoO, - EHED (i) Cement
(c) CaO (iii) Bleach
(d) CaCO, (iv) Plaster of Paris

Choose the most appropriate answer from the options given below :
Options :

86435116315. (a)-(1), (b)-(iv), (c)-(iit), (d)-(ii)

26435116316, (@), (b)-(ii), (c)-(1), (d)-(iv)

86435116317, (@)-(iiL), (b)-(ii), (c)-(iv), (d)-(1)

86435116318, (@)-(iil), (b)=(iv), (c)-(ii), (d)-(i)

Question Number : 37 Question Id : 8643515437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Al - 12l =l - 1A sdsL

¥l - 1 el - 1
(a) Ca(OCl), 1)  wlazilus
(b) CaSO, - %I—IED (i) (2
() CaO (i) el
(d) CaCoO, (iv) elizer s Ulkx

Al e (el del oy dlusiudl sesiet YaiE sl
Options :
86435116315, (@), (b)-(iv), (c)-(ii), (d)-(ii)

sea3s11631e. @G, (0)-(i), ©)-(), (d)-Gv)
s6435116317. @G, (0)-(ii), (©)-(iv), (d)-()

86435116318, (@)-(iii), (b)-(iv), (c)-(i1), (d)-(i)

Question Number : 38 Question Id : 8643515438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of ionisable hydrogens present in the product obtained from a reaction of
phosphorus trichloride and phosphonic acid is :
Options :

86435116319,

86435116320, 2

86435116321. 0

86435116322, 2

Question Number : 38 Question Id : 8643515438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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slasian glsdinds wi slasilHs 2R Al sl wadl Alvscl sz 2uadlsel 2 w5 as
elgglorlAl v 2liel
Options :

86435116319, |

86435116320, 2

86435116321. 0

86435116322, 2

Question Number : 39 Question Id : 8643515439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List- 1 List- 11
(a) Chlorophyll (i) Ruthenium
(b) Vitamin - By, (ii) Platinum
(c) Anticancer drug (iii) Cobalt
(d) Grubbs catalyst (iv) Magnesium

Choose the most appropriate answer from the options given below :
Options :
86435116323. (a)-(iii), (b)-(ii), (c)=(iv), (d)-(i)

26435116324, @), (b)-(iid), (c)-(ii), (d)-(i)
26435116325, @), (b)-(ii), (c)-(iii), (d)-(i)

86435116326. (@)-(iv), (b)~(iii), (c)-(1), (d)-(ii)

Question Number : 39 Question Id : 8643515439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Al - 1 el 2l - 1A sdsl

yall - 1 ¥all - 11
(a) sdiilsa (i) A
(b) [enid - B, (i) leAan
(c) Hlcs=4z =AMy (i) sledlez

(d) %o GElus (Grubbs catalyst) (iv) oAy

Al e Csedlsizl Al oy, eid Qudl seeel wis 3L,
Options :

s6435116303. (@)-(iiD), (0)-(id), (©)-0v), (d)-)
s64351 16304, @), (0)-(i), (©)-Gi), (d)-(i)
s643511630s. @-(0¥), (D)), (©)-(ii), (d)-()

86435116326. (@)-(iv), (b)-(iii), (c)-(1), (d)-(ii)

Question Number : 40 Question Id : 8643515440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct structures of trans-[NiBr,(PPh,),] and meridonial-[Co(NH,),(NO,),], respectively,

are
Options :
NO
Ph}lj \ / BI‘ O:;_N | 2 NH;
Ni and \Cﬂ/
Ph3F/ \Br Clz[\.'/ |‘I—I\NH3
86435116327. 3

PhyP Br H,N_ 292 no,
\f\]i/ q \(Lr/
ar
Br/ \PI’hg DEN/ | \NI 2

NH,
86435116328, *
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Ph,P \ / Br
/ \PPh

86435116329.

PhaP \ / Br

d
Phy 13/ \Br 9= ‘3’21"“*'[/1~!;[H\Pm2

86435116330.

Question Number : 40 Question Id : 8643515440 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

24 NiBr,(PPh,),] 214 WL8-Al4a-[Co(NH,);(NO,),] -l Al HHREL 2t453 2L

Options :

Ph3P\ /Br
Phs P/ \Br

86435116327.

PhyP B
’ \ / r
/ \I‘II}h

86435116328.

Ph3P‘\ /Br
/ \PPh

86435116329.

M|

3

O,N

N

NO,

o

NH,
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PhHF \ / Br
N wir
Ph,P 7 N O,N /| H\NC‘z

86435116330.

Question Number : 41 Question Id : 8643515441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statements that are TRUE :

(A) methane leads to both global warming and photochemical smog,
(B) methane is generated from paddy fields

(C) methane is a stronger global warming gas than CO,

(D) methane is a part of reducing smog.

Choose the most appropriate answer from the options given below :

Options :
86435116331, () and (B) only

86435116332, (A) (B), (C) only

86435116333, (B). (O, (D) only

86435116334, () (B), (D) only

Question Number : 41 Question Id : 8643515441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[Beuixizll 2=l 2L

(A) B APas dreunul qurl (sdidd diBbL) 2 sl aaeBls gy-4aa dis el sy 9.
(B) [l = Ul gtoniiadl (=l Gotdl € cizll) Gourt i 6.

(C) [HEA 24 CO, s2dl Mot sdlleid L ay ©.

(D) BiEi 21 Royadby ga-gaanl »is oL .

Al2 widan [Bseqmiel el gy oacudl s s sl
Options :
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sscl (A) »i- (B)
86435116331.

86435116332, 2 (&) (B), (O)

86435116333, = (B), (©), (D)

86435116334, £ (A) (B). (D)

Question Number : 42 Question Id : 8643515442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound with molecular formula C;HO can show :
Options :

86435116335, Positional isomerism

86435116336, Functional group isomerism
86435116337, Metamerism

86435116338, Both positional isomerism and metamerism

Question Number : 42 Question Id : 8643515442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
C,H,O 2epiann 2ilsr l2iAmizl ueklq 52l s o.
Options :

LA UHUSHA
86435116335.

aellet 2y umesdl
86435116336.

- A ’ ] - 5‘_
86435116337, LUl (Metamerism) #3425l

Ol 21 2 HHISHAL HHER2 5L
86435116338.
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Question Number : 43 Question Id : 8643515443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :
List- 1 List - 11
(Chemicals) (Use/Preparation/ Constituent)
(a) Alcoholic potassium hydroxide (i) electrodes in batteries
(b) Pd/BaSO, (ii) obtained by addition reaction
(c) BHC (Benzene hexachloride) (iii) used for p-elimination reaction
(d) Polvacetylene (iv) Lindlar’s Catalyst
Choose the most appropriate match :
Options :

86435116339, @), (b)-(1), (¢)-(iv), (d)-(ii1)
26435116340, @)-(i), (b)-(i), (c)-(iv), (d)-(ii)
86435116341, @)-(11), (b)-(iv), (c)-(1), (d)-(iii)

26435116342, (@)-(iid), (b)-(iv), (c)-(ii), (d)-(1)

Question Number : 43 Question Id : 8643515443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Wl - 122l 2l - 1A sdsl,

wedl - 1 ¥l - 11

(zauell) (Guaion/ eiez fuzs)
(a) =uesieldls Wkiy wdsisags (i) el dasgist
(b) Pd/BaSO, (i)  dPela w8 qne o
(c) BHC (il dsmisaizids) (i)  p-Eama b we Gyl
(d) dl=ikdl (iv) [desaz Geglus

el ey oluctudl sas wadE s3L
Options :
86435116339, @)(i), (b)=(1), (c)-(iv), (d)-(iii)
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26435116340, @)-(i1), (b)-(1), (c)-(iv), (d)-(ii)
86435116341, @)-(11), (b)-(iv), (c)-(1), (d)-(iii)

26435116342, @)-(iL), (b)-(iv), (c)-(i1), (d)-(1)

Question Number : 44 Question Id : 8643515444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reaction of Grignard reagent, C;H-MgBrwith C;H;O followed by hydrolysis gives compound
“A" which reacts instantly with Lucas reagent to give compound B, C;3H;;CL

The Compound B is :

Options :
Cl
CHy
86435116343.
CH;
1
86435116344,
Cl CH,
CHj5
86435116345.
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CH;

CH;

s

86435116346.

Question Number : 44 Question Id : 8643515444 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Berud s CHMgBr -l CaHO el sl 531, srnlclonsr sl didlor+ “A” MM 2 & 5
of ket of s WiRs B WAL 53 dilierd B, CogH ;Cl =AM . cll %llsrt B UL

Options :
Cl

CH,

b

86435116343

CH,

3

86435116344.

cl CH,

CH;

pe

86435116345.
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CH,4
Cl

CH;

86435116346.

Question Number : 45 Question Id : 8643515445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H>O H,O
i ] ai Ju"bo. #r ]
H* H*, 4
{(Major Product)
Consider the above chemical reaction and identify product “A” :
Options :
: ~CH;NH,
86435116347.
: ~CONH,
86435116348.
i
: ,C=N-OH
86435116349.
: ~CH,NO,
86435116350.

Question Number : 45 Question Id : 8643515445 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

COOH
IIZD H,0
il H+, A
(v {lusy) '

Guz-l 202us wiEA sl dl 2 sy “A” 2L
Options :
CH,NH,

86435116347.

( N—-OH

86435116348.

86435116349.
O/Cl IENDE
86435116350.

Question Number : 46 Question Id : 8643515446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

49/90



3/18/2021

H;

Alkaline KMnO,
H 3 »

OCH;

Considering the above chemical reaction, identify the product “X"” :

Options :

CH,OH
){ i
86435116351. OCH;
COOH
X -
86435116352. OCH;
CHO
_}{ g
86435116353, Sk
CH,
X -
OH
86435116354

Question Number : 46 Question Id : 8643515446 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

H,

#iKl4 KMnO,
H +

h" n’x.‘.l'

CIH,

Guzdl 2Bl UBA Al dl sy “X7 A 2oL

Options :
CH,OH
X s
86435116351, OCH,
COOH
X =
OCH,4
86435116352.
CHO
X %
86435116353, et
CH,
X -
OH

86435116354.
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Question Number : 47 Question Id : 8643515447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ot
Hj
NaNO,, HCl

}: . KH’ " Y.‘f
273 K-278K (Major Product) (Major Product)

k4

Considering the above reaction, X and Y respectively are :

Options :
. ~CH
and U N8
CHy
86435116355.
Cl Nan
and O/ N
@  \CH,
86435116356. et
N;Cl™ KCIIEJ
d A
an ©/ CHj,
86435116357.
Cl CH,
and O/ \CH
3
86435116358.

Question Number : 47 Question Id : 8643515447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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H,C CH,

B
H,

NaNO,, HCl
273K - 278 K

o X}J’ } £ Y I
(ot lluer) (3 Aluse)

Guzel Ul 23l Al X 24 Y 2454 2l

_ZFCI N\‘@ N
& CH
2] ©/ \If 3

CH;,

Options :

86435116355.

@O

86435116356.

O/ (:1 1,
g
i O/ N\

86435116357.

CH;
86435116358,

Question Number : 48 Question Id : 8643515448 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - I :

List- 1 List- 11
(Class of Drug) (Example)
(a) Antacid (i)  Novestrol
(b) Artificial Sweetener (ii) Cimetidine
(c) Antifertility (iii) Valium
(d) Tranquilizers (iv) Alitame

Choose the most appropriate match :
Options :
86435116359, @ (), (D)-(1v), ()-(iti), (d)-(i)

86435116360, (@) (1) (b)-(v), (c)-(i), (d)-(iii)
86435116361, @), (B)-(0), (c)-(ii), (d)-(iii)

c6a351 16362, @-(iV), (D)), ©)-(D), (d)-(ii)

Question Number : 48 Question Id : 8643515448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al - 12 el - 1 sdsL

el - 1 el - 11
(AL %2l) (Gzweaa)
(a) ula=ifus (i) ezl
(b) gl a1 gl (i) [elesl
(c) 2ei[HR1asL (iif) Al
(d) Malidsl (iv) =ilden

izl g olactudl sds uiE 53l
Options :
86435116350, @ (1), (b)-(iv), (c)-(i1), (d)-(1)

86435116360, (@)1 (b)-(1v), (c)-(1), (d)-(iii)
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86435116361, @), (b)-(i), (c)-(ii), (d)-(ii)

s6435116362. @-), (D)), (©)-(0), (d)-(ii)

Question Number : 49 Question Id : 8643515449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A non-reducing sugar “A” hydrolyses to give two reducing mono saccharides. Sugar A is :

Options :
86435116363, Clucose

86435116364, Fructose
86435116365, Galactose

86435116366, Sucrose

Question Number : 49 Question Id : 8643515449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
s Ald-Repbl Wr (W) “A” 4 wvaldousd add d o Repibl Hidl dgudol wud 8. W

A 38l
Options :

3 51
86435116363, =

$521
86435116364, =

NA 2l
86435116365. e

1

86435116366.

Question Number : 50 Question Id : 8643515450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Reagent, 1-naphthylamine and sulphanilic acid in acetic acid is used for the detection of :
Options :
86435116367 V2

86435116368. aa

86435116369, NO

¢

N
86435116370. =

Question Number : 50 Question Id : 8643515450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wi[3fs 2ARUL 1-endazida el destHdls =B ubus ARzl siaen Guael dad ©

Options :

86435116367, "NO2

86435116368, V3

86435116369, NO

N,O
86435116370. 2

Chemistry Section B
Section Id : 864351364
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351364
Question Shuffling Allowed : Yes

56/90



3/18/2021

Question Number : 51 Question Id : 8643515451 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C ompletc- combustion of 3 g of ethane gives x X 102 molecules of water. The value of x is

(Round off to the Nearest Integer).
Use : N, =6.023 % 10%3: Atomic massesinu :C:120:0:16.0: H: 1.0
A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643515451 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 g G2 ayel fert welldl x x 102 2ol 24U 8., dl x 4 Y 8. (sl yeusul
2G5 2 531)
(Gudidl : N, =6.023x 10%3; uzu1odly g0l u 4 : C:12.0; 0:16.0; H: 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643515452 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX is a covalent diatomic molecule where A and X are second row elements of periodic
table. Based on Molecular orbital theory, the bond order of AX is 2.5. The total number of
electrons in AX is . (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 52 Question Id : 8643515452 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX o Hedlers [guraiedls 210) © sadl A 2 X 21 208 515 lsd 2UddH (second row) dedll
. el 585 AUE A 2R, AX AL GasUis 2.5 O, dl AX W gl g9 v 8.
(AAsgs-l yelsl AG-s »is 531)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643515453 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
CEHE — 1‘CEI-L1 I H2

the reaction enthalpy AH=__ k] mol 1. (Round off to the Nearest Integer).

[Given : Bond enthalpies in k] mol 1. C=C:347 C=C:6l1;
C—-H:414, H-H : 436]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643515453 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C,H, - C,H,+H,
Ml e, w2l A H= k] mol 18, (Amsl yelsui uG-s =l 53)

[20 ;e 2l kK mol ¥l : C-C: 347, C=C:611;

C-H:414, H-H: 436]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
58/90
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Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643515454 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2 molal solution of a weak acid HA has a freezing point of 3.885°C. The degree of dissociation
of this acid is %1073, (Round off to the Nearest Integer).

[Given : Molal depression constant of water =1.85 K kg mol !

Freezing point of pure water =0"C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643515454 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[Reln iR HA - 2 Hiad g8l 3.885°C sklelg 4zl 8. 2 o 2iRisL (Ao »ial
%1073 8. (AwsA yelsul UG- =iy 530)
[2ie : welldl Hlad 2144 210is =1.85 K kg mol !

e well sk g = 0°C)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 55 Question Id : 8643515455 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In order to prepare a buffer solution of pH 5.74, sodium acetate is added to acetic acid. If the
concentration of acetic acid in the buffer is 1.0 M, the concentration of sodium acetate in the
buffer is M. (Round off to the Nearest Integer).

[Given : pKa (acetic acid)=4.74]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643515455 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

pH 5.74 a6, o152 gL cirlloeliol s34, Hllsyy iRieeq wiRls isul Gyl 219 8. s os2ul
wi[#ls sl Mgl 1.0 M did dl, olsedl Albam =izedl wiga M 8. (195l
yellsHi 2G5 21 5U)

[20U4 : pKa (»lRiles »iR8) =4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643515456 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
2Fe?* (aq) + 21~ (aq) — 2Fe** (aq) + L,(s)
the magnitude of the standard molar free energy change,

[+

AG,, =-_ k] (Round off to the Nearest Integer).
E° 2t /pee) = — 0440 Vi Eo Loy e o= — 0086V
By for- = 0539V F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 56 Question Id : 8643515456 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2Fe® *(aq) + 21 (aq) — 2Fe?* (aq) + Iy(s) M 2, wHulbld Har ys Gled 325l e

AGm=—_ Kk B (-egsei yelsui 2G5 »lis 53)
E°retFee) = — 0440 ViEo Loy o= — 0.036V
Bl /- = 0339V F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643515457 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(g) +Cl(g) = 2 NOC(s)

This reaction was studied at — 10°C and the fﬂllowf_t'lg data was obtained

run [NOJ, [CL ], I
1 0.10 0.10 0.18
2 0.10 0.20 .35
3 0.20 0.20 1.40

[NOJ, and [Cl,], are the initial concentrations and 1, is the initial reaction rate.

The overall order of the reaction is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643515457 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2 NO(g) + Cly(g) — 2 NOCI(s)

2L WAL 20— 10°C W 52l 2iel 24 A2 Horotdl Hilddl i 2.

54 (Run) [NOJ, [CL ], I,
1 0.10 0.10 0.18
2 0.10 0.20 0.35
3 0.20 0.20 1.40

[NOJ, 2t [CL,], =4 232l Aigril & 247 1y 2L 232l MraeL 8. dl #uu wbaHl 54
(Ul 54) 8. (Awsl yelsul UG~ i 531)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643515458 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of unpaired electrons present in the complex K;[Cr(oxalate),] is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643515458 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

K,[Cr(oxalate),] slelui storz 214fPud ddsgiri-l g9 dvau

VT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 59 Question Id : 8643515459 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

grams of 3-Hydroxy propanal (MW =74) must be dehydrated to produce 7.8 g
of acrolein (MW =56) (C;H,0) if the percentage yield is 64. (Round off to the Nearest
Integer).

|Given : Atomic masses : C:120u, H:1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643515459 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o 251414l My 64 €11 dll, 7.8 g sl (MW =56) (C;H,0)  Gruig 5291 wie AH
3-clgglsdl WA (MW =74) o Forelszel sz o W3, (Al yellsHl uG-s =15 1)
[ 2o : vzseleld s C:12.0u, H:1.0u, 0: 16.0 u |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643515460 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A reaction of 0.1 mole of Benz}-'larm'_ne with bromomethane gave 23 g of BE-I‘LZ}-'I trimeﬂ‘u}-'l
ammonium bromide. The number of moles of bromomethane consumed in this reaction are

nx 107!, when n= . (Round off to the Nearest Integer).

[Given : Atomic masses : C:120u, H:1.0u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 60 Question Id : 8643515460 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Ol ARl dE-l 0.1 e A2 ol B2l Wi s2dl a4 23 g deidd grlbiuda 2iRiHyy dibuds

i~

2 8. ol il WAL qudl il BEdadl Wl v nx 1071 S sl n= 5.

(Amsel yaulsHl UG- 2l 531)

[ 2wl s : C:12.0u, H: 1.0 u, N: 14.0 u, Br: 80.0 u |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351365
5

Online
Mandatory
20

20

80

Yes

1
864351365
Yes

Question Number : 61 Question Id : 8643515461 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the functions are defined as f(x)= Vx and g2(x) = +1 — x, then what is the common

domain of the following functions

(f * () =f(x) + g, (f/g)(x) = L&
g(x)

Options :
86435116381, 0 =x <1

I+g. % g gily g=j) where
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86435116382, 0 <x <1

86435116383, 0 =¥ =1

86435116384, 0 <x =1

Question Number : 61 Question Id : 8643515461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
od BEEL f(x) = VI 2l g(x) = VT — x WSl vl 2, ol Aol BElAL A uE 1) 28l 7

fre f-g flg g/f g—focd (f = @ =) = g(), (f/g)(x) = %
Options :

86435116381, 0 =x <1

86435116382, 0 <x <1

86435116383.

86435116384, 0 <x =1

Question Number : 62 Question Id : 8643515462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the equation a|z 2 bt @z+az+d=0 represents a circle where a, d are real constants,

then which of the following condition is correct ?
Options :

I (I
36435116385, |(@/~—ad = 0andae R

a/?~ad >0 and a ¢ R~ {0}
86435116386.

2 L5
86435116387, |« —ad=z0

o ; 3
86435116388, @=0-a deR
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Question Number : 62 Question Id : 8643515462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o U520l alz> + @z + az + d =0 4du gld, sl a, d ARdlEs 2Rl S, dl A3 ikl 59 22
el 8 7
Options :
a/2—ad = 0 udaeR

86435116385.
86435116386, |27 ~2d >0 #ta e R— (0]
2 ad=z0
86435116387, '™ ad = (

—. a.deR?

86435116388. ™

Question Number : 63 Question Id : 8643515463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| 2 0 | 3.
3 3|land 2A-B=|2

s S 0 1

let A+26= If Tr(A) denotes the sum of all

oo =
L I LR |

diagonal elements of the matrix A, then Tr(A) — Tr(B) has value equal to :
Options :
86435116389. 1

I3

86435116390,
86435116391, 2

86435116392, U

Question Number : 63 Question Id : 8643515463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Rl S A +2B= cod Tr(A) #1 AR A Al @lsr [sell

L) =
FE IS I S
-

o

B

p=

o

I

| S I
K o N

dzsidl Wl galid, dl Tr(A)—Tr(B) =
Options :
86435116389, 1

86435116390, 2
86435116391, 2

86435116392, U

Question Number : 64 Question Id : 8643515464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let o, B3, v be the real roots of the equation, ¥ +axZ+bx+c=0, (a,b,ce Randa, b= 0). If

the system of equations (in u, v, w) given by au+pet+yw=0; putyo+aw=0;
g

i . a .
v + av + pw =0 has non-trivial solution, then the value of o is :

Options :

86435116393. 0

86435116394, 1

86435116395. 3

86435116396, 2

Question Number : 64 Question Id : 8643515464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ARl 5 o B,y 2 ellsrel ¥+ ax2+bx+c=0, (a, b, ce R 2 a, bz 0) i drdlls ofld 6. s

(u, v, w A1) w520l Aqeld ow + Po +yw=0; Pu+yo+aw=0; yu+av+pw=0 4 21¢lys Gidl

o

é"@t,rﬁ“l—ja{ﬂ B
i)

Options :

86435116393. 0

86435116394, 1

86435116395. 3

86435116396, 2

Question Number : 65 Question Id : 8643515465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of all the 4-digit distinct numbers that can be formed with the digits 1, 2, 2 and 3
15 :

Options :

86435116397, 22264

86435116398, 20664

86435116399, 122234

86435116400, 122664

Question Number : 65 Question Id : 8643515465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
250 1, 2, 2 21 3 glal oell 4-2is0l s B vl 3o i

Options :

86435116397, 22264

86435116398, 20664

86435116399, 122234
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86435116400, 122664

Question Number : 66 Question Id : 8643515466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let (1+x+2x?=a,+a,x+ax?+...+ax?0. Then, a;+a+a+.... ka,; is equal to :
Options :

71‘3{22{] | 21]

86435116401. ~

jH]{jE{] | 71]
86435116402. = = =

21‘3{22{] 21]
86435116403.

23]{22{] 21]
86435116404.

Question Number : 66 Question Id : 8643515466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WA 3 (1+x+2xY0=ay+a;x +ax?+...+a,pnd0. dla;+ag+ag+...+ag =
Options :
71‘3{72{] | 'jl]
86435116401. = '~ &=
731{72{] | 'jlj
86435116402. = = =
21‘3{22{] 21]
86435116403.

-
86435116404. ~

Question Number : 67 Question Id : 8643515467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The value of 3 is equal to :

1
4 1
1
3 4 -
g
3+ ... x
Options :
86435116405, 1> 1 V3
LB
86435116406, 2 T V3
3+ 2.

86435116407. ~

86435116408, 4 + V3

Question Number : 67 Question Id : 8643515467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 4 : - =
4 4
1
3 4 -
4 1
3 x
Options :
86435116405, 1> 1 V3
86435116406, 2 T V3
2
86435116407, ° 2\3

86435116408, 4+ 3

Question Number : 68 Question Id : 8643515468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F— I ... I —,Jlis equal to :

Options :
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25

01

)

86435116409.

101
86435116410, 408
59
86435116411, 200

101

86435116412, 404

Question Number : 68 Question Id : 8643515468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

86435116409, 1U1

101
86435116410, 408
99
86435116411, 200

101

86435116412, 404

Question Number : 69 Question Id : 8643515469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If «, B are natural numbers such that 100% - 1998 = (100)(100) + (99)(101) + (98)(102) 4
..... t(1)(199), then the slope of the line passing through («, ) and origin is :

Options :
86435116413, 210
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86435116414, 230
86435116415, 240

86435116416, 920

Question Number : 69 Question Id : 8643515469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Mglds dvdl o, U2 st 1001996 = (100)(100) + (99)(101) + (98)(102) + ...+ (1)(199),
€, dl (o B) c2 GhrlCEHEl iR adl vl el B,
Options :

86435116413, 210

86435116414, 230
86435116415, 240

86435116416. 220

Question Number : 70 Question Id : 8643515470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o1
e lxl =1
If f(x)=4I% is differentiable at every point of the domain, then the values of

%
lax” +b; |x]|<1

a and b are respectively :

Options :
3 .3
86435116417. o
1 3
86435116418. 2 2
5 3
5% 3

86435116419.
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M=
[ ]

86435116420.

Question Number : 70 Question Id : 8643515470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| [
: i SPIBRE g e s g e il . %
o f(x)= 112 2 MEAAL g2 (G5 wid [sadl €y, dloa d b -l 2458 [Bud
taxz +b: |x|<1

£,
Options :

3 3
86435116417, = 2

14

86435116418. 2 2

5 3
86435116419, 2 2

& 3
86435116420, 2 2

Question Number : 71 Question Id : 8643515471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosec Ix

The real valued function f(x) = —=—=, where [x] denotes the greatest integer less than or

Jx — |x]

equal to x, is defined for all x belonging to :

Options :

86435116421 all reals except integers

86435116422, all reals except the interval [ -1, 1]
86435116423 all non-integers except the interval [ -1, 1]
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26435116404, ALl Integers except 0, — 1,1

Question Number : 71 Question Id : 8643515471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
- . “ " o o g cosec 'x -
od [x] 2L x 2@el x ol Al Wy el guld, dloardlds yeudw) QAU f(x) = —[] 2
' Jx—Ix

HLHHAA 85 x M2 vl ©.
Options :
yelsl Beuudl g2 dedldst

86435116421.
86435116420 AR [—1, 1] [l €25 araldst
cea3sieays. AR [~ 1, 1] Rewsdl g yells A dvaeil
26435116404, O L1 Riaml vy yellsi

Question Number : 72 Question Id : 8643515472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
lim Sin 1x — tan” 1x

: is equal to L, then the value of (6L + 1) is :
*—0 33 q ( )

If

Options :

1
86435116425, ©

86435116426. ©

I3

86435116427.

N =

86435116428.

Question Number : 72 Question Id : 8643515472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

= -1
= g 5 [ 1.r. ; o o H
o IMZL T A7 T oopde, ALl e am

x—0 Iy

Options :
4
86435116425, ©

86435116426. ©

86435116427, 2

b | =

86435116428.

Question Number : 73 Question Id : 8643515473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1)cos(2x — 1)

\."r:lxz

2x -5
The integral _[( dx is equal to :

dx + 6

(where c is a constant of integration)

Options :

3l
;sin\/{h' I '1]2 o ol
86435116429. =

s
;sﬁ‘w'[(zx '1]2 o ol o
86435116430. <

1 .'
;cosﬁ{?x 'l)2 5+ ¢
86435116431. <

1 3
;cosﬁ,..'f(Zx F1)" +5 +¢
86435116432, =

Question Number : 73 Question Id : 8643515473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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s I(Zx lcne (2x 1]2 S

-x2 dx + 6

(sl © @4 2sanl 20 8)
Options :

86435116429, 2

i
—31'_11\/(23: 'l]2 +5
86435116430.

dx =

l1-111‘||\/{2x I 1]2 5 + ¢

C

lco:a«.,ln'r(Ex 'l]2 FS5 + ¢

86435116431, 2

.
—cr}s\}({zx I 'l]E 5 +C

86435116432, 2

Question Number : 74 Question Id : 8643515474 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The differential equation satisfied by the system of parabolas L.rz= d4a(x+a) is:

Options :
{ﬁ 2 W) -y =
86435116433, dx) | dx )
F[d—ﬂ 'l"ffd—ﬂ y=0
86435116434, 94X/ \dx )
dy\? du
L‘[—yw lt{—y| Fy =0
86435116435, X dx )
—J- ’?{d_y =0
[da _l\_dx] y

86435116436.

Question Number : 74 Question Id : 8643515474 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Weedl P =4a(x +a) Al dedld wnen s3q Bsa wllsra - B,
Options :

i

86435116433,  \dx
86435116434.
86435116435.

86435116436.

Question Number : 75 Question Id : 8643515475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement about two circles whose equations are given below :
2 +y?—10x—- 10y +41=0

x2+y?—22x— 10y +137=0

Options :

86435116437, Circles have two meeting points

86435116438, circles have no meeling point

86435116439, circles have m‘nl}-' one meeting point

86435116440 circles have same cenlre

Question Number : 75 Question Id : 8643515475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al2l 2ute wflselenon o adul W2 W [Qad s 53
2 +y?—10x — 10y +41=0

x2+y2—22x—10y +137=0
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Options :
i T . : Y
86435116437. e Blete @@mﬂ =

P . o
86435116438, 9 Brant (g -l

£ '\.& . Fo
86435116439. bl e {ali =

86435116440, U WA 54 &

Question Number : 76 Question Id : 8643515476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the four circles M, N, O and P, following four equations are given :

Circle M : 22 +12=1

Circle N : 2% +y?—2x=0

Circle O : x2+y2—2x—2y+1=0

Circle P : x> +y?—2y =0

If the centre of circle M is joined with centre of the circle N, further centre of circle N is joined

with centre of the circle O, centre of circle O is joined with the centre of circle I’ and lastly,
centre of circle P is joined with centre of circle M, then these lines form the sides of a :
Options :

86435116441, Rectangle

86435116442, Rhombus

86435116443, >duare

26435116444, L arallelogram

Question Number : 76 Question Id : 8643515476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AR Al M, N, O 2 P 12 Al2iAl iR #3{ls2ell 2 8 ¢
Clt;itfl M : x4 y2=1
ada N @ a2 +y?— 2x=0
adun O : 22+ y2—2x—2y+ 1=0
ada P : x2+32—2y=0
od Al M Al Sl adi N Al 5eg 22 sdseidl 209, 24 Guzid adn N Al b adn O -l 55 2@l
sASAHL 2, 9 O Al Segd dqoL P Al 5o HEL sAsell U i 2l dquL P Al S aqor M Al
beg W eds 2, ol W 2ol Al sl e 8.
Options :

36435116441, R

MOy AcB51e]
86435116442. e

86435116443,

e H h_\. A
86435116444, TURAUY AUPSIL

Question Number : 77 Question Id : 8643515477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of integral values of m so that the abscissa of point of intersection of lines
3x+4y=9 and y=mx +1 is also an integer, is :

Options :
86435116445.

86435116446.

86435116447, 2

86435116448, 3

Question Number : 77 Question Id : 8643515477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

79/90



3/18/2021
Yauldl 3x+4y=9 2d y=mx + 1 4l S5l oo yols a ddl m «l yeols Gudidl v
5.
Options :
86435116445

86435116446.

86435116447.

86435116448, 3

Question Number : 78 Question Id : 8643515478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of one of the straight lines which passes through the point (1, 3) and makes an
angle tan"1(\/2) with the straight line, y + 1= 32 x is:

Options :

26435116449, W2 x +5y — (15+442) =0

T ¥ 7) —
86435116450, 4V2 x — 5y — (5+44/2) =0

86435116451. 5vV2x +4y — (15 +442) =0

86435116452, V2 ¥ +5y — 42 =0

Question Number : 78 Question Id : 8643515478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@5 (1, 3) wizdl v adl =4 v ¥y +1=3V2x wd o =tan"1(V2) @edl el vredl
Yool oisd wellszor 8,
Options :

26435116449 42 x +5y — (15+ 442) =0

i 7) —
86435116450. 42 x -5y — (5+442) =0
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e6a35116451. V2 X +4y — (15 +442) =0

: ' oy
86435116452, N2 ¥ +5y —4/2 =0

Question Number : 79 Question Id : 8643515479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solutions of the equation

. o1 .
1 +sin"x sin"Xx sin~x
cos2xy 1 + cosZx cosZ x| = 0,(0<x <), are ;
4 5in2y 4sin2y 1+ 4sin2y
Options :
A
86435116453, 6 6
57 T
86435116454, 12 1
I 11w
86435116455, 12 12
L
86435116456, 12 ©

Question Number : 79 Question Id : 8643515479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wlszel
o o5 .9 ;
1+ sin“x sin“x sinZx
cos2x 1 + cos2x cosZ x| =0, O<x<w) Al Gl 8.

4 sin2y 4 sin2xy 1+ 4 sin2x

Options :
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a B
86435116453. & 6
5 7w
86435116454, 12 1
7w 11w
86435116455, 12 12
W
86435116456, 12 ©

Question Number : 80 Question Id : 8643515480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—
A vector a has components 3p and 1 with respect to a rc-ctangular cartesian system. This

system is rotated through a certain angle about the origin in the counter clockwise sense. If,
with respect to new system, a has components p+1 and Jﬁ then a value of p is
equal to :

Options :

86435116457, 1

86435116458, 1

4
86435116459,

5
86435116460, *

Question Number : 80 Question Id : 8643515480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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dopllzy sidodld digld A ulEa a Al Huesl 3p 214 1 8. 2 sl Grrileg s2q altuadi siel
[Fizea Eal 2045 e srzd ubemel sl 20d . od 240 Adl deld us a -l dsest p+1 2

J10 € dlp =
Options :

86435116457, 1

86435116458, 1

4

86435116459. 5
3
86435116460. =
Mathematics Section B

Section Id : 864351366
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351366
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643515481 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z4, z, be the roots of the equation 72 +az+12=0 and Zy, Zp form an equilateral triangle

with origin. Then, the value of |a| is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 81 Question Id : 8643515481 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ARLS zq, 2o 2l W3llsrel 22 +az +12=0-AL odlr & 2 2, 2, 21 GER(GE HEL H3eusy Bislel ol 8.

ol il e TR
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643515482 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f(x) and g(x) be two functions satisfying f(x%) + g(4 —x)=4x" and g(4— x) + g(x) =0, then
4

the value of I._f{xzjdx Bl ow o
—4

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643515482 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ARL S f(x) 2 g(x) =L f(x?) +g(4—x) =427 2 g(4 —x) +g(x) =0 «f HHEUA 52l A BaAL 8. dl

4
[fa)dr 434 6.
-4
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
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100

Question Number : 83 Question Id : 8643515483 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. 3 L i
: L il e - :
If f(x)= _[ : . — dx, (x = 0), f(0)=0 and f(1)= i then the value of K is
(x2 +1+227) K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643515483 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
" 528 + 7x0 -
od f(x)= | : — dx, (x = 0), f(0) =024 (1) = A
x2 +1+2") K

&

G, ol Ko et

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643515484 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A square ABCD has all its vertices on the curve ::.'zl.r2 =71. The midpnints of its sides also lie on

the same curve. Then, the square of area of ABCD is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643515484 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

2RH ABCD i “ltllsy RIRUGEXIL 45 x2y2=1 4z 2uddl 8. dedl cllsylidl Helogail yeL d o o5 W
Al 8. dl ABCD AL ssaAl sl 8,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643515485 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the plane ax + by +cz + d =0 bisect the line joining the points (4, —3, 1) and (2, 3, —5) at
the right angles. If a, b, ¢, d are integers, then the minimum value of {a3 Fb2 4 c24 dz] is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643515485 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QRL S ¥ ax +by+cz+d=021 g2l (4, —3,1) 24 (2,3, —5) A sdscl Juud slevel guel .

-

od a, b,c,dyelsl i, dl (@2+b2+2+d) Al Y B 8.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643515486 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The equation of the planes parallel to the plane x — 2y + 2z — 3 =0 which are at unit distance
from the point (1, 2, 3)isax+by + cz+d =0. If (b —d)=K(c— a), then the positive value of K
15 D

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643515486 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HHAD x -2y +22-3=0 A ¥Hidz dal [A4g (1, 2, 3) &l 2isH 2id? 2084 Waddi w3l
ax+by+cz+d=086. ot (b—d)=K(c—a) 4, dl Kfatyes 8,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643515487 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The mean age of 25 teachers in a school is 40 years. A teacher retires at the age of 60 years
and a new teacher is appointed in his place. If the mean age of the teachers in this school

now is 39 years, then the age (in years) of the newly appointed teacher is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643515487 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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25 WARL 25 Rlasiql Gua-l 2211 40 ool 8. 215 Qlats 60 il G Qg 24 & 21 daiel srqd
Al [Flats-l Faejs sl 209 6. ¢l ot 20 woudl @Rizsel 2wz 63z 39 oof €, dl s Feeis
yed [Resd Gw (eedl) 0 el

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515488 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of imes the digit 3 will be written when Iistfng the integers from 1 to 1000 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515488 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

12l 1000 Helll yelsidl 3ol ol aud 2i5 34 cuid duiesl 2ud .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643515489 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643515489 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AliAl 2uglinl vwedl B 8.

: ) |

| 24 b f

e 2] “Safe) /\4
\/ 8 z

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643515490 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation |cotx| = cotx 4 in the interval [0, 27] is

SINY

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643515490 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

&

w529l |cotr | = cotr + —— il @idr1d [0, 2r] i Gl dvau
SITY

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

90/90



